
E2.6 	Find  in the network in Fig. E2.6.
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Figure E2.6               




oleObject3.bin

image3.wmf
eb

V


oleObject4.bin

image30.wmf
eb

V


oleObject5.bin

image4.wmf
 around loop ----:

12 V6 V4 V0

10 V

eb

eb

KVLedcbe

V

V

-+-=

=


oleObject6.bin

image40.wmf
 around loop ----:

12 V6 V4 V0

10 V

eb

eb

KVLedcbe

V

V

-+-=

=


oleObject7.bin

image5.wmf
 around loop  ----:

24 V4 V6 V0

26 V

ad

ad

KVLabcda

V

V

-+-=

=


oleObject8.bin

image1.wmf
 and 

adeb

VV


oleObject1.bin

image2.wmf
ad

V


oleObject2.bin

image20.wmf
ad

V


